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Math 1116, Quiz #8, Fall 2014 Name Ké _

Instructions: Show all work. Answer each question as completely as possible. Use exact values. For
counting prablems you may use scientifi‘E notation (with three significant figures) for any numbers larger
\

than a million. |
|

1. Apportion 150 seats using Hamilton’s Method by completing the table below.
State Population Standard Lower Upper +1 Final
Quota | Quota Quota Apportionment

4340 43 4M 4%
Ternium 5912 9
Bs1 98 b2 —+\ M
Ullias 6954 %353 35 57_{ £ \ %L(
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23 49 L 24 Q2
3, 103 143 (SO
Standard ;
Divisor X0 387

Samia 9009

Vortiex 4362
Woosiel 4871

Total

2. Describe the Quota Rule.
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3. Below is an example of two differ‘@nt apportionments of the same states, one with 18 seats, one
with 19 seats. What paradox is this an example of? Indicate where the paradox occurred.

Hamilton apportionment Hamilton apportionment
City with 18 board members with 19 board members ,AL&LM&&—
Cardiff 6 7 ? W%
Solana 2 2

Vista 2 { I ) \,;Sk. (D&\'& w
[ama 3 ] welﬂﬂ\- RO M
Facific 5 5 becarne

Total 18 19



